N = 0 & AF &2 Z Al A
2008 S =2 1 3l CADSARSES
SN DEHE D
Mo EDE 54 K2
S IEDE MHIA NS (TADSAZSH5I) (B &a)
SA R CR(S) - NRAIY - HES 0fl b 7\ & o Hl D=2
6,219,456 5,737,920 481,536
DEHN 2 27,000 27,000 0
Al 6,192,456 5,710,920 481,536
6,001,151 5,547,195 453,956
HEDE 854 X 2 27,000 27,000 0
Al 5,974, 151 5,520, 195 453,956
4,200, 120 4,274,853 AT74,733
HEDE MHIA HE(SADEALSH3H) 2 27,000 27,000 0
Al 4,173,120 4,247 853 AT74,733
NsEDEHIH(ITS) 2= 912,580 912,260 320
201 2Bre oty 405,380 405,060 320
02 zzeg| 405,380 405,060 320
O1 2222 2 HAl 320 0 320
PEEBHMRD(AUHA BEAAH)
40,0002 174 A +87H 2 320 0 320
o816 196,661 271,714 A75,063
801 Ol b 196,661 o71,714 A75,083
01 oiblH| 196,661 271,714 £75,083
Ot bl 25 196,661,000 196,661 271,714 A75,083
DEOA oAl LB (EADSALSE5]H) 156,405 88,703 67,702
01210l NEXFDE =7 128,232 60,530 67,702
307 81210 & 30,000 18,000 12,000
00 BIAAMNEE 30,000 8,000 12,000
O0lZ 0 DEZ AL A2
2730,000,0002! 30,000 18,000 2,000
401 N&HIZ2CHY) 50, 102 0 50, 102
02 A& 2,457 0 2,457
ORI DEDY QHHARA AIS AAl &
y] 2,457 0002 14! 2,457 0 2,457
04 Al 45,000 0 45,000
ORI DEDY QHHARA AZ(5EE)
45,000, 00021 * 14! 45,000 0 45,000
05 22l 1,359 0 1,359
OOZIOIDEDH QHUHAIRA AIE 224l
1,359, 00021 * 14! 1,359 0 1,359
06 Al&=CH| 1,286 0 1,286
ONZOIDERS OHHAIRA A= 2oib|
1,286, 0002 *14! 1,286 0 1,286
405 Xt AHE S H| 5,600 0 5,600
01 KaEE3 =t 5,600 0 5,600
OWL )| (18T ) 2,000,0002! +1CH 2,000 0 2,000
Ouhe| (272 8) 1,350,000 %2CH 2,700 0 2,700
Oslol g (1001 ) 900, 000%! * 14 900 0 900
=R 2ol (CADSASSESH) 1,644,606 1,183,639 460,987
=qE x4 697,860 476,420 221,440




SN DEHFD
MU YZENE S4 X2
CHol: MSOMM O Al 245} (G Al S AL S 5I3) (B9 da)
SA B CP(BH) - HIRAY - B2 Of) &t o I & o HRE2
401 AIEHIZL 2O 697,860 476,420 221,440
01 JI2 XA L] 20,000 0 20,000
OZAZRIHEZE BE 2o (S7E)
20,000,000& * 14! 20,000 0 20,000
04 A& 670,000 470,000 200,000
OSQAE SE5L ZEEMNT X4 ZA
200,000,000 * 14! 200,000 0 200,000
06 AlE=C0HYI 7,860 6,420 1,440
OQUE SESL ZHEMNE T4 2N
200,000,000& *0.72/100 1,440 0 1,440
=8 Xt t=H 745,056 503,809 241,247
101 212 d| 90,746 6,169 84,577
10 JIZHI2NERL 90,746 6,169 84,577
OEHFIUHUEQRA(SE2R) 84,577 0 84,577
>ol2g 39,500 *62!x160! 37,920 0 37,920
SO R= 37,920,000& *3/7 16,252 0 16,252
DESsY 39,500& 621 «31 7,347 0 7,347
PAXRSE Y 39,500 621 x7 1,659 0 1,659
PEY2DLT
39,5003 621 %142 *150/100 4,977 0 4,977
DAY 4,938& x601 *30A| 2H+7 & 6,222 0 6,222
> Il =l 4,200 0 4,200
Ool= 100,000& *621 +2'H 1,200 0 1,200
os= 140, 0002 *60! <22 1,680 0 1,680
O ot& 3t 50,000& 60! x2F 600 0 600
ogsts 70,000& =621 420 0 420
ORXNELERZ 50,000& *62! 300 0 300
DAHEEE (2. D8 AT 20I02)
6,000,000& * 14! 6,000 0 6,000
201 23| 361,978 355,308 6,670
01 At 22|l 80,040 73,370 6,670
O=&t| 19,320 12,650 6,670
D EUFHICS(5Y 0HUSHES
CH =4 a3 19,320,000& 19,320 12,650 6,670
405 XtAHE S| 180,000 30,000 150,000
01 XML EEFHSHI 180,000 30,000 150,000
OSYFIICSS CTV IISHA TGE5HA
AE IS 15,000,000& 1071 & 150,000 0 150,000
OlH&E=Z Xtd & =X72d | 70,630 72,330 A 1,700
303 A= 0 1,700 A 1,700
01 ZaA=Z 0 1,700 21,700
OFIEse=s-SHSEY 0 1,700 A 1,700
D xS ZH0A 0 500 A500
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